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1 ) What is the probability of the spinner landing on 4 ? _________

2 ) What is the probability of the spinner landing on 3 ? _________

3 ) What is the probability of the spinner landing on 2 ? _________

4 ) What is the probability of the spinner landing on 1 or 3 ? _________

5 ) What is the probability of the spinner landing on 1 or 2 ? _________

6 ) Do you have an equal chance of landing on either 2 or 3 ? _________

7 ) What is the probability of the spinner not landing on 3 or 4 ? _________
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8 ) What is the probability of the spinner landing on B or C ? _________

9 ) Do you have an equal chance of landing on either A or B ? _________

10 ) What is the probability of the spinner not landing on A ? _________

11 ) What is the probability of the spinner not landing on B or C ? _________

12 ) What is the probability of the spinner not landing on B ? _________

13 ) What is the probability of the spinner not landing on C ? _________

14 ) Do you have an equal chance of landing on either A or C ? _________



Name :

Teacher : Date :

Score :

Math-Aids.Com

Probability Using a SpinnerProbability Using a Spinner

3

2

1

41

2

3

4

1 ) What is the probability of the spinner landing on 4 ? 2 out of 8_________

2 ) What is the probability of the spinner landing on 3 ? 2 out of 8_________

3 ) What is the probability of the spinner landing on 2 ? 2 out of 8_________

4 ) What is the probability of the spinner landing on 1 or 3 ? 4 out of 8_________

5 ) What is the probability of the spinner landing on 1 or 2 ? 4 out of 8_________

6 ) Do you have an equal chance of landing on either 2 or 3 ? Yes_________

7 ) What is the probability of the spinner not landing on 3 or 4 ? 4 out of 8_________
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8 ) What is the probability of the spinner landing on B or C ? 2 out of 6_________

9 ) Do you have an equal chance of landing on either A or B ? No_________

10 ) What is the probability of the spinner not landing on A ? 4 out of 6_________

11 ) What is the probability of the spinner not landing on B or C ? 4 out of 6_________

12 ) What is the probability of the spinner not landing on B ? 5 out of 6_________

13 ) What is the probability of the spinner not landing on C ? 5 out of 6_________

14 ) Do you have an equal chance of landing on either A or C ? No_________


